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1. TEAA AW IEe ARG T S Hi &id 7

(1) i< AEesen (2) H. SRR

() g WERE (4) TRA TR

Who was the first Indian Governor General of Independent India ?
(1) Lord Mountbatten (2) C. Rajagopalachari
(3) Rajendra Prasad (4) Warren Hastings

it Teta Foa SUTH. 91 Wi W@ Siven S i ?

1) fww FR (2) FaEg G
(3) THA FTSH (4) T TEEe TEbE

The Union Government decided to constitute a committee of Chief Ministers of five states

to suggest measures to ease the sufferings of the people after demonetisation. Who is
appointed as the head of the Committee ?

(1) Nitish Kumar (2) Sarbananda Sonowal
(3) Mamata Banerjee (4) N. Chandrababu Naidu

3. W faum o= =

(a) vawyr anfn @ AiHesEle sifovE YEEmEEHid A TSAHeAd ®Ee TG
IO AAS T,

(b) dawsm auft e A SeEite Sfava TEE Fe dhauas e Sl A4
(c) Haw4™ anftn == dinsweEie sfavard T drhay ST Teaweg TR T 341,
St HIo/dt faem/ 3 stat ene/a?
(1) X (a) (2) ¥ (b) @) (a) =0T (b) (4) W (o)
Consider the following statements :

(a) There is no mention of a No Confidence Motion against the Prime Minister and
Council of Ministers in the Constitution of India.

(b) A motion of No Confidence against the Prime Minister and Council of Ministers can
be introduced in Lok Sabha only.

(c) A motion of No Confidence against the Prime Minister and Council of Ministers can
be introduced in Lok Sabha and Rajya Sabha.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2)  Only (b) (3)  (a) and (b) (4)  Only ()
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4. Yag=n gfgen wfeen foeafusd well Tee 9 gy Fat saen gegneie wie

T fee.
(1) TIEdd SRyAEEt 2) EvEElT Gt
(3) WgEw ey (4) wEEELS AR

Mumbai’s First lady Collector, Sharwaree Gokhale left behind her flat in Mumbai for
after her death.

(1) Heart research (2) Kidney research
(3) Brain research (4) Diabetes research

5. ArReat 2016 A ‘TS T €€ 2016 A A TF =R hardd IO A ud anfi
N IES IR g .

(1) (2) e 3) = (4)

Joint Military Exercise ‘Hand in Hand 2016 was held in Pune in November 2016 between
India and .

(1) Russia {2) America (3) China (4) Japan

6. WA gl UHS-TEId FITATHIST F1H SURHSH ATGEE TS e TR Tifed e
ofdi yg@ S 3R ?
(1) eIt Fid ) . FRT R
(3) T HY (4) V. SEEI g

The centre announced a new committee to form a strategy to expedite the process of
transforming India into a cashless economy. Who is the head of the committee ?

(1) Amitabh Kant (2) B. Janardhan Reddy
(3) A. Ghosh (4) N. Chandrababu Naidu

7.  Wea faue faawa =0
(a) VRGHTEN 81 g ITHATE HecHal Thed Ie.
(b) T WU 25,000 fE. .2 T qYvAm AR TR
(c) 1 weheq 2018 Ta Ui Fen Sl
T IR/ faum/A S0ET aR/a?
1) @afip @ A @) wEwm() 4) (a) 3 ()
Consider the following statements :
(a) Bharatmala is the ambitious Project of Central Government.
(b) The construction of 25,000 km roads will be undertaken during this projects.

() This project will be completed by 2018.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b) and () (3)  Only (c) (4) (a) and (©)

oAl HIATETS S /SPACE FOR ROUGH WORK
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8. TeATHISiea ANigyieh qeie Heuld qRieTdsh! hvr/ faue/ S a9 ag/d 1 fae
(a) T WIS - ST SreReEl yRefud FTArESisl e AT S,
(b) A AIIG T S a B v AR,

Tt FR/d faue/3 steT /4 ?
(1) P (a) (2) P (b)
3)  (a) Sf (b) @) (a) STf (b) & T

Consider the following statement/s regarding the Directive Principles of State Policy.
(@) The principles spell out the Socio-economic democracy in the country.

{(b) The provisions contained in these principles are not enforceable by any court.
Which of the statement/s given above is/are correct ?

(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
9. YRA™ AiEa fiFdhe HuM uIfdear deuren staq ‘ onfym #9’ faen. a1 T9eiae] Fonen Feiage
Weargdl TEHR el et & ?
1) ot o= (2) e TearHt
(3) ferht FAR (4) w HE

The Indian Women's Cricket Team won Asia Cup by beating Pakistan. Who was adjudged
as the player of the tournament ?

{1) Mitali Raj (2) Thulan Goswami

(3) Latika Kumari (4) Smriti Mandhana

10. WRA™ HfTS Bt FHH 2016 Aieht fava=ys Naar dfmm wiHe qEiedst Sivmrn gum=
9 el B ?

(1) wifrEH (2) (3) Il (4) fesEm
Whom did Indian Junior Hockey team defeat in final match to win the World Cup in
2016 ?

(1) Pakistan (2) Germany (3) Argentina (4) Belgium

11. HEYH YiEe] Ii= 9i6dqla ieie fadrEi= fo=m .
(a) T wRAE Yafemite $9 3ENg AR
(b) Tl €t SRl 39 wE&e 2016 =0 SR YUfaydts Qe[ @ R Jiaffue Fel
(c) @ Tuferriis 39 It Yauiugs Ta HIomy gfgen MRdr §.
qre v fael
(1) (a). () 2 b 3 @@ (4) =aw
Considering following sentences about Mariyappan Thangavelu.
(a) He is an Indian Paralympic high jumper.
{(b) He represented India in 2016 Summer Paralympic games held in Rio De Janeiro.
(c) Heis India’s First Paralympic gold medalist in High Jump.
Select correct code :

1) (a), () 2) () (© (3) (a), (c) (4) All the above

oA RIS JRT /SPACE FOR ROUGH WORK
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12, HSR U g0 I s s WRaTen Ui g9 frcary.
(1) f&dt =% (2) @i
(3) o® TH (4) TWEAR 9F
Major Rohit Suri recently received the from President of India.
(1) Kirti Chakra (2) Shaurya Chakra
(3) Ashok Chakra (4) Param Vir Chakra
13. ‘U famg oieea’ qeteriat 1o Sewian QU 37 ?
(a) HawaH
(b) 1A, fam A
(c) HEA Fare WAl
(d) T e
et T e e
(1) W (b) 3T (d) (2) I (b) ST (o)
(3) I (a) ST (o) (4) FH (a), () I (d)
Who among the following constitute the National Development Council ?
(a) The Prime Minister
{p) The Chairman, Finance Commission
(c) Ministers of Union Cabinet
(d) Chief Ministers of the States
Select the correct answer using the codes given below :
(1) (b} and (d) only (2)  (b)and (c) only
(3) (a) and (c) only (4) (a), {c) and (d) only
14. AT ToAoEAE STAE qiaar ST QRET aia] Taey Jeieish] Hm e e 2

TeguEAE! SRR
qAd Fde

(2)
(4)

(1)
()

T WSy o
Faeft e

In the Constitution of India, promotion of International Peace and Security is included in

the :

M
3

Preamble to the Constitution

(2)
4)

Fundamental Duties

Directive Principles of State Policy
Ninth Schedule

HoAl SIS AR /SPACE FOR ROUGH WORK
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15. Q&S faumitent vkt faum/Y 9 sed d faer?
(a) WA FrETEEN UL 3N TaHRMrTERId FEfashler 5t SRl 3.
b) @ 4 e Tl T ofieda Snan AveETE A 1 gR AR S 1000 HeX
it 36
(1) = (a) 2) wED) () (a) () TA @) <
Consider the following statement/s and select the correct answer :
(a) The Supreme Court banned the sale of alcohol along national and state highways.
(b) 1t set a deadline of April 1% next year to shut down all liquor shops situated at a
distance of 1000 meters from the edge of highways.
Answer Options :
(1) Only (a) (2) Only(b) (3) Both(a)& (b) (4) Neither (a) nor (b)
16. Hfgclifatgal RUER T FOIEEE Aaed fag Bl 3R,
(1) 257N (2) 10 feday
(3) 16 feds (4) 25 fedia
International Day for elimination of violence against women is on
(1) 25%h November (2) 10*" December
(3) 16™ December (4)  25% December
17. WRAW T A9 wREedr foiedl 47 =1 Aiqursa foaqe wereaan 2016 9l JEiee v
ferverm ' gavingy’ g gesEe ?
1y I® (2) TR (@) TenTE @ T
Which film bagged ‘Golden Peacock’ award at the 47'" International Film Festival of India
in Goa 2016 ?
(1} Rauf (2) Daughter (3) MellowMud (4) RaRa
18. IV WRAHE Ahell ' STEEM’ 91SME Lending H1et aiepe sl JRahR SE el 378 ?

(1) HTaas (2) ®=IF AE e

(@) fa=ard= (4) ¥ A e

Which Indian Bank has been adjudged as the Best Bank for SME Lending by Assocham ?
(1) Canara Bank (2) State Bank of India

(3) Vijaya Bank (4) Bank of India
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19. Weitd faum @& =1
(A) : TR T HEMIAT FRIh! FFa Teeeh Ao gEgadt @ e T Tl wfaffue
e o7,
(R) : TR U= HEHA YWt Aehuen Afera w3l /s Wi Wwagya yfafiie =,
mw:
(1)  (A) 3007 (R) € 91 fum 97 o/ (R) £ (A) X 30 S o,
(2) (A) 3T (R) € = faum drg oTRd 91F (R) & (A) & 979 SEIRTT AE,
(3) (A) ¥ forrge faum 1 71 (R) & I foum ot
(4) (A) R I faum o (R) # foaee ame.

Consider the following statements :

Assertion (A) : Out of the seven union territories only two i.e. Delhi and Pudducherry
have representation in Rajya Sabha.

Reason (R) : The Populations of other five union territories are too small to have any
representative in the Rajya Sabha.

Answer options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A} is true but (R) is false.

(4) (A) is false but (R) is true.

20, Groite faum fa=mre =
(@) ‘TR A YR R €A JHaE 104 I9UE 9AfUd e faswd iefaen.
(b) 104 SHRIUHT T 19 ITUE YRS 0 IS STAE WEH Be.
Tt HIvR/ 9 faum/S qUET /8 ?
(1) % () 2 ®F@B) ) @FAMEb) @) FAsw T
Consider the following statements :

(a) India’s space agency “ISRO” launched a record 104 satellites.

(b)  Of the total 104 satellites, three were Indian and remaining belonged to International
Customers.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2) Only(b) (3) (a)and (b) (4) None of the above

AT THIATETST ST /SPACE FOR ROUGH WORK
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21, WA WEEEAR

(a) ¥ AT FIHFSTA WEWIT 8IS WehaT.

(b) ? ArmadE SiEd 95 2% YA,

(c) ¥ AHEYd Jie YHhaw.

(d) ¥ AREYd FASH HE ThdT.

Tt SR/ R fGuF/ T TR/9?

(1) T (a) (2) W (a) MW ()

(3)  (b) Snf0n (d) R (4) T (a), (b) N (c)

Attorney General of India can :

{(a) Take part in the proceedings of Lok Sabha.

(b) Be a member of a committee of the Lok Sabha.

(c) Speak in the Lok Sabha.

(d) Vote in the Lok Sabha.

Which of the statement/s given above is/are correct ?

(1) Only (a) (2)  Only (a) and ()

(3) Only (b) and (d) (4)  Only (a), (b) and (c)
22. G faum faanm =i .

(a) W WaEedTa 352 4 360 & ety fafay vy swoiiemd Hewlq TR

(b) RET TIEEAdE el . 356 T4 ARG (TR Ta2) Hefg oTs.

(c) WA TEIEEAIS herd oh. 360 UL ATOR=rne Heifia oTe.

Ferdent o/ faum/ s’ o/ ?

(1) () 2 () (D) (3) () 37 () (4) (a), (b) 37T (c)

Consider the following statements :

(@) Article 352 to 360 of Indian Constitution deals with various types of emergencies.

(b) Article 356 of Indian Constitution is related with State emergency.

(c) Artcle 360 of Indian Constitution deals with National emergency.

Which of the statement/s given above is/are correct ?

(1)  Only (a) (2) (a) and (b) (3) (b) and (9 4) (2, (b)and (9
23, WA@Y Fvre et dawym g A/ 3 T 500 9 T 1000 FRewER wOER @ s

31 Hifd 1 ?

(1) 89 2016 (2) 8 3ATRRR 2016

(3) 8 R 2016 (4) 8 fedaX 2016

On which of the following days Prime Minister Narendra Modi announced that T 500
and ¥ 1000 would be just worthless piece of paper ?

(1) 8t March 2016 (2) 8™ October 2016
(3) 8th November 2016 (4) 8™ December 2016
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24, GRESHHT HIV TH IAM Tohod HIRERNT THIA SHE F9 WA G TehEs ?

(1) W (2) i (W) (3) efdrm 4) W

Which one of the following countries recently won Davis Cup by defeating Croatia in the
Final ?

(1) France (2) UsA (3) Argentina (4) Russia

25. YRAY HU ST R STHAT A0S WYUl IRAEQHia fhar qRarde e umm
FES TR FE ¥ ?
(1) TS WIedT FeHTarel Hoel ST 7.
(2) FHE! GEEEH RS UH! TS T,
@) =t A frofam gwifad g it Shdt STewEs 3.
(4) TS FIVENE ToAT= oAl Aavdeh] THd.

The Parliament can make any law for whole or any part of India for implementing
International Treaties :

(1) With the consent of all the states

(2) With the consent of the majority of states

(3)  With the consent of the states concerned

(4) Without the consent of any state

26. G T Hacd AT ST HE YoH YRt Hivl Fe ?

(1) HewrH S Fel (2) wfsr rag
(3) TR M (4) o 3 g
Who from the following was the first to bring women in the freedom movement ?
(1) Mahatma Jyotiba Phule (2) Sarojini Naidu
(3) Mahatma Gandhi (4) Dr. Annie Besant
27. 1857 < ISEM® Ut AT &St Afepish Jaeier ymmon B,
(1 1:2 2 1:3 3) 1:4 4 1:5
After the revolt of 1857 the ratio of the English Soldiers to the Indian Soldiers was fixed as
(1)__1:2 2 1:3 3) 1:4 4 1:5
28. AP FHAGSH _ Eww fofvew Bk
(1) @&SHA (2) <9 (3) EEm 4 ™
Vasudeo Balwant Phadke served as a clerk in department.
(1) Military (2) Post {3) Defence (4) Railway

THToAT HIATATS! S /SPACE FOR ROUGH WORK
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29. Siredl oo
(a) WHEgEEl faaRETol () e fater
(b) oheits et (i) e der
(c) AR foarwi (i) STH. HFHEK
(d) WrEEE faarat (iv) 9. A
Tatdt I
@ (b) () (d)
(1) (@ () ) (@
(2) (@) (v) @ @)
G O @ @ )
@) (v @ @ (i
Match the following :
(a) The Imperialist School (i) Valentine Chirol
) The Cambridge School (i) Anil Seal
(¢) The Nationalist School (iii) R.C. Muzumdar
(d) The Marxist School (iv) R.P. Datt
Answer options :
(@ (b) (o) {d)
1) (@@ @) (v) (@)
(2) @) @) @ (W)
G O @ (@) (i)
@) ) @) (@ (i)
30. 2RI TESIae WA HuAEr T S0 e ?
(1) e e (2) SWRSSTIRT (3) WA IR (4) dRISE 2T
Who was the tounder of Tata Hydraulic Power Company ?
(1) Dorabji Tata (2) Jamshedji Tata (3) Ratan Tata (4) Virjeet Tata
31. 1789 94 & Hiel {3 Widkiel Iiect GAIH IR 2
(1) <= Tige (2) i FRER
3) Tw (4) = ies
Which was the first newspaper started in Bombay Presidency in 1789 ?
(1) Bombay Gazette (2) Bombay Courier
(3) Darpan (4) Bombay Herold
32, 1872 WY TH TSN 3HEHM SR i G F.
1) @rE waf () <rE SR (3) oI Ao ) g fa=a

was assassinated in 1872 by a Pathan in the Andaman Islands.
(1) Lord Mayo (2) Lord Dalhousie (3) Lord Wellesley (4) Lord Lytton

HoAT HATEIS AT /SPACE FOR ROUGH WORK
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33. =gl T 9T § SANEHT TE.
(1) = el (2) oA foew
(3) wEE T (4) <AHg W
According to Vedas are not ‘Apaurusheya’.
(1) Mahatma Gandhi (2) Lokmanya Tilak
(3) Mahatma Phule (4) Dayanand Saraswati
34, 'SR weE® & oo HYRR ST,
(1) e fotdt aeme 2) wiaTa FERYN 9%
(3) IIHTHPR Ferdcs (4) YRd S D
The Chauri Chaura incident caused the end of this movement .
(1) Anti Rowlatt Satyagraha (2) Civil Disobedience Movement

(3) Non-Cooperation Movement (4) Quit India Movement

35. Weiteiehl HIvEl Sl TERRI Teodod Halfvd giedt ?
(a) wHRa &, fageme fa@ ==
() AfeuE dE, T wHwE M
(c) THIIRI T, ARHAE HETd
(d) wSHRS 9N, ST, T

T 39T
1) (a), (b) =for () F (2)  (b), (c) 30T (d) e
(3) (a) 3O (b) Tk 4 (a), (), () *nfor (d)

Who from the following persons were related to the co-operative movement ?
(a) Bhausaheb Hire, Vitthalrao Vikhe Patil

(b) Vaikunthbhai Mehta, Dr. Dhananjay Gadgil

(c) Vasantdada Patil, Yashwantraoc Mohite

(d) Bhausaheb Thorat, G.K. Devdhar

Answer options :

(1) (a), (b) and (c) only (2)  (b). (c) and (d) only
(3) (a) and (b) only 4) (). (b), () and (d)
36, TEHl HiEl ¥ waqr favar ufeciast qoaa GEiaist Sivk S w2
1) Tavags (2) YIRS §eT
3) fr=m & 73 (4) wfeengw

Which of the following institutions for widows was established at Pune by Maharshi
Dhondo Keshav Karve ?

(1) Vidhva Ashram (2) Sharda Sadan

(3) Nishkam Karma Math (4) Mahilashram

HEAT HMMEIST A0 /SPACE FOR ROUGH WORK
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37. oG Adid 1857 =1 9N g it el B,

(1) 3Fae= < (2) =&t S™

(3) = Hifesn (4) <A
1857 Revolt of Lucknow was led by .

(1) Begam of Avadh (2) Badi Begam
(3) Begam Sahiba (4) Begam Taj

38. 1949 W WU Wei¥h faemdiam= w9 Hielt ?

(1) =3 @ (3)  STHTTE (4) FeER
Which Regional University was established in 1949 ?
(1) Mumbai (2) Pune (3) Amaravati (4) Kolhapur

39. 1908 <A1 FEUA FsH TGE I3 [aIcTIeh! HIvRdl Jausi-l id JHRHE % FHed 7
(@) g (b) <dm (€) e (d) SeHEH
it 39T
1) @, 0)( FF (2) (a) () (d)FH 3) (@, (dFK (@) () (d) FH
Which of the following newspapers stopped their publication on account of the stringent
provisions of the Act of 1908 ?
(a) Yugantar (b) Darpan (c) Sandhya (d) Bandemataram
Answer options :

1) (@ (®) (Qeonly (2) (@) () (d)only (3) (a) (d)only (4 () (d)only

40, fafewr IURIEH Fown FEETER $= S HUHIFET YRAE TIHRWR gt Hael ?
(1) sfem Frdm fR= 1909 (2) e FrdiT AR 1861
(3) T=AH IF ST 3T 1858 (4) TEFHe IffE g2 AT 1935
By which act did the British Crown take over the administration of India from the East
India Company ?
(1) Indian Councils Act 1909 (2) Indian Councils Act 1861
(3) Government of India Act 1858 (4) Government of India Act 1935

41. AR e =6 He IR
(1) 1173 (2) 1273 (3) 1373 (4) 1473
The height of the Raireshwar peak is meter.
(1) 1173 (2) 1273 (3) 1373 (4) 1473

HoAT HHEG AN /SPACE FOR ROUGH WORK
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42. U F JATUES TV A T doid el driE i 3R 7
1) 3d™ 2) 299 (@) 1499 @) 478
What is the difference of the local time between Saurashtra and Arunachal Pradesh ?
(1) 3 Hours (2) 2 Hours (3) 1 Hour (4) 4 Hours
43. TR (A WRifas &%= SLELEL SR uiar=n &%
T e
(1) 307713, 9.36 (2) 306713, 8.36 (3) 305612, 9.36 (4) 305710, 7.26
The Geographical area of Maharashtra State is __________ sq. km and occupied
% area of India.
(1) 307713, 936  (2) 306713, 836  (3) 305612, 936  (4) 305710, 7.26
44. < fagrud= & fafie, e 9 13, @rae Tenfe S WE e RYH 3TArd 3
3TE.
(1) = (2) AT (3) el (4) ETE
in South Bihar has emerged as a major centre of cement, paper and paper
board and plywood.
(1) Ranchi (2) Dalmiyanagar (3) Rurkela (4) Asansol
45. Toew TR FIS T6 AR ?
1) oW F FE T e g
2) el o Fen T e e s

3) T F Heret i IS vewi A

4) HEWS! 9 TieEd THi= BV REno g0aH
Where the Chilka Lake is situated ?

(1) Between the delta of river Krishna and Kaveri

(
(
(
(

(2) Between the delta of river Godavari and Krishna
(3) Between the delta of river Ganga and Mahanadi
(4) Between the delta of river Mahanadi and Godavari

HeAT HIAMES AT /SPACE FOR ROUGH WORK
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46. Sired AE
et G IHE
(a) 3 ()  HHETR
(b) TEARY (i) v
(c) =TS (iii) RUTEETS!
(@) faygr (iv) Tend
it 3+

@ (b (9 (d)

M ) () @) @
2 @O @ @) (v)
3y () (w) @) @)

4) @@ (@v) @) @
Match the following :

District Reservoir
(a) Thane (i) Dhamapur
(b) Ramagiri (i) Bhatsa
{c) Raigad (i) Fanaswadi
(d) Sindhudurg (iv) Kalate
Answer options :
(@ (b) (o) (d)
1) @) @) @) @
@ O @ @ )
@) Gv) ) @ O
@) @ (v @) @
47. TTEAUS! SRV /RO SfaE F1/% TS e sy e ?
(a) &M b) Faed (c) B (d) fragh
T I
1 @ (2) (), (), (d) @) ®)© @) (9 (d)
Which of the following hydel power station/stations is/are in Raigad district ?
(@) Vaitarna (b)  Yeldari (c) Bhira (d) Bhivpuri
Answer options : )
1 @ @ @ 6@ 6 0.0 @ © @

e HIATEE W /SPACE FOR ROUGH WORK
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48. i faue w@.
(a) AT G FHO T HHNS A aE AR,
(b) Fom g furmy et @R TRRE SRS AT Fm.
(c) Il 9 M Fei= U A JaTe  Wiofed’ W
it I
(1) wH fauF (a) IR 3R, (2) R fauE (b) IO AR
(3) fau (@) ofm (b) W aRA. (@)  fawd (a), (b) 370 () 0= aew.
Observe the following statements :

(a) Narsobawadi is near the confluence of river Panchganga and Krishna.

{b) The river basins of the river Krishna and Bhima are separated due to Mahadeo

dongar.
{c) The combine flow of the river Wardha and Vainganga is called ‘Pranhita’.
Answer options : |
{1) Only statement (a) is correct. (2) Only statement (b) is correct.

(3) Statements (a) and (b) are correct.(4) Statements (a), (b) and (c) are correct.

49, A= 9 S TR Ae S fds am.
(1) "= (2) TRisTEE
(3) =R @) Fyciare

pass lies between Central and South Sahyadri.
(1) Thalghat (2) Fondaghat

(3) Palghat (4) Kumbharlighat

oAl THTHTEIS AT /SPACE FOR ROUGH WORK
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50. IrF SSW @
werafa it <
(a) TRl () HAE
®) @& () s
() = (i) I
(d) w9 (iv) Sieid
oI I
(@ () (¢ (d
1) @ @ @v) ()
2) (1) @) @) @{@v)
(3) (i) @@ @ @)
(4) Gv) (@) @) @)
Match the following :
Shifting Cultivation Countries
(a) Roca (i) Malaysia
{b) Ladang (i) Brazil
(c) Chena (ili) Zaire
(d) Masole (iv) Sri Lanka
Answer options :
@@ (b) () (d)
1) @ @ (@v) (i)
(2) @O @@ @) @)
(@) @) @@ @ @{v)
(4) (v) (i) @) @)
51. fecan smyfTe Yafrofi=t wne qag A9 1854 7& =i el

Q) WHT. @ (2) Sl dmer  (3) HE TR (4) T ST W
The first modern textile mill was established at Mumbai in 1854 by .
(1) Seth CN.Lad (2) D.G. Potdar (3) C.N. Dawar (4) Tata and Sons

52. TESA TSIl IR 9 T famEd] e W A i TEdr.
(1) TR @i (2) AR 9 I
(3) AR q g 4) fPraais
tribes live in the hills along the northern and eastern edges of the Deccan
Plateau.
(1) Garo and Khasi (2) Warali and Thakar
(3} Katkari and Halba (4) Bhil and Gond

HoAT HIMES AT /SPACE FOR ROUGH WORK
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53, A feurerd weumE S 9 S 9t i sEee sgesdrd, $R
(1) @& faum sifaqEsela aEa T=N TR,
(2) = faum SR Se| st sifies TS STETeT oW e,
(3) & favm Ie_R TamHEET AR,
4) = favm sfaee STent ST .
In Eastern Himalaya crops like jowar and bajra are rarely observed, because
(1) this is plain area in the far east
(2) this is the area of rugged topography and high rainfall
(3)  this is the area of warm climate
(4) this area is occupied by dense forest
54, IOTRCHHT GEERT AT Weledeh! I/ Hiort feme /== aia o/ 3ed ?
(a) 3TEF TG ST
(b) i IS BN
() THe o 9 feFh .
(d) T ThICeAT Gl HHRAA T,
it 3T
(1) (a) (2) (@), () 3 (d)
@) () OINCELIC
Which of the following feature/features of tropical evergreen forest is/are correct ?
(a) Very dense forest
(b) Trees shed their leaves annually
(¢) Timber is hard and durable
(d) Lack of pure stands
Answer options :
(1) (a) only (2) (@) (c) and (d)
(3)  (c) only (4) (b)and (c)
55, TR UfiaHSEIe SHeHy, I, Sy st faemi foemma & w1 wvEa.
(1) &= olig, TS Hleswn AW = (2)  NEUEE, 19 O qist
() TTEwH, faww anfon fis (4) whmTSe, faeiert anfin = wig

In Western districts of Rajasthan namely, Jaisalmer, Barmer, Jodhpur and Bikaner
minerals are found.

(1) Iron ore, coal and manganese (2) Bauxite, mica and copper

(3) Limestone, gypsum and salts (4) Chromite, silica and iron ore

AT SRIHTETS ST /SPACE FOR ROUGH WORK
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T THTT &I TG haied 2.4 2R YWFT TIVE 38, ISUEl VI dishdel A
T A1 TGSt Taeud 16.85 9% Tae! 3. TrgaUd oA Sieied SEuiiqd ehserd
YA AE UG Al Sd HIH A&y B2 el Arel. Eheiardent Hivar U A suftr
T A 5 W™ 35 Tfeeied] St SeeR Hed 2

() ften T Bl sl g

(b) ToreromsEn v

(c) weft=n miadter fram

(d) feTamTeT WigHET S v

Taidt 3

(1)  (a) =T (b) (2) (b) S () (3) (a) WA (o) (4) (b) =M (d)
India’s landscape is just 2.4 per cent of the total world area, whereas its population is
nearly 16.85 per cent of the world population. Population has rapidly increased due to
steady decline in the death rate, while birth rate has not declined significantly. Which
one economic and one social factor are responsible for continue to favour high fertility ?
(a) Slow urbanisation process

(b) Lack of education

(c) Control of epidemics

(d) Decline in the incidence of malaria

Answer Options :

(1)  (a) and (b) (2) (b)and () (3) () and (9) (4) (b) and (d)

57. @rieis SR fadra Hroms JrE Tw e
(1) X B (2) WEAMS Fet
(3) G IR FOwSA GEl-foet (4)  wEtE @
Which of the following is not an instrument of fiscal policy ?
(1) Taxation (2) Public borrowing
(3) Open market operation (4) Public expenditure
58. WHIORHl foml PN g STTHEHE! 5% & & 7% 4 STUHSdE! sen 3l fmre waed
Eil
(1) XI = faw s () Xu =1 o s
(3) XUl = faa s (4) Tl s
Which Finance Commission recommended single rate of 5 percent for central GST and
7 percent for state GST ?
(1) FC XI (2) FCXI
(3y FCXII (4) NITI Aayog
59. 1990-91 ¥&A YA fafa g TE o S
(1) TR FIL (2) T o SR
(3) =S aE (4) i SR
were most important export items in 1990-91 in India.
(1) Readymade garments (2) Gems and Jewellery
(3) Leather goods (4) Petroleum products

HoeT HIWETS! SR /SPACE FOR ROUGH WORK
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60. et fadta siersTa 2013-14 I Fromt/Hord Fieon/ fAiso sts Et/q 2
(@) T 2013-14 AEA ARG @A TSI WdeEltaT S9 R HTd Hel.
(b) TN SEIARME Y& W qavEia d1g 2Nft1 YagHmEe fa FrishAaET 2.
) fadta T & USa SFd Seme 2.5% A1 YHIOI TR heft gl
Tt s
1 (a) @ ® G) (© 4) ¥ (@), (b) ()
Which of the following observation/s is/are not correct for the Budget 2013-14 ?
(a) In 2013-14 there has been a significant reduction in plan expenditure over the
budgeted levels.
(b)  The thrust of the budget was on higher investment and inclusive development agenda.

(c) Fiscal deficit was estimated to be 2.5% of the GDP.
Answer Options :

1) @ 2 (b ¢ (© (4) all(a), (b), (9

61. MRAML TEr=A WRoaned qEidl Tl Admd :
(a) R THN WRATE g dohdhgd Fet wa,
(b) (TREHERA) SR AT THR ESTo WHOne WRAT e st STaett |ieerett Jearet

foreers &+t &L,
(c) = fmior .
it I

(1) (a) 09 () (2) () T (c) () (@) = (b) (4) ¥ (a), (b), ()
In India deficit financing involves :

(a) Central government borrowing from the RBL

(b) RBI running down of accumulated cash balances against the issue of treasury bills.
{¢) Creation of money.

Answer Options :

(1) (@) and (q) (2) (b)and (9 (3) (a) and (b) 4) All(@), (), (<)

62. fa<ia 38 2013-14 =1 SIEITHT GEIA 1= e,
(1) = ARTE T, FIH 0= HAS Trefaeft Wy Safea® Fu« 3L a9 39,
(2) A= AfEEE T T S09A HA AR 9 Fafan AEF L FH FA.
(3) I AT ST FUTH I HAI SGeel A THY A FH X G qew
.
(4) TR ST THe! FTH 39 HATQ AEfael] dea Jafedad Tt &t ol aedel.
Budget for 2013-14 had the following :
) increased then existing tax slabs and kept the personal income tax rates constant.
increased then existing tax slabs and decreased the personal income tax rates.

1
2)
3) neither altered then existing tax slabs nor altered the rates of personal income tax.
4) increased then existing tax slabs and also increased the personal income tax rates.

S — — —
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63. TdaW % T fw (CDS) TER 2009-10 W YR R 6.6 25k wal.  CDS HHea
HeUd Gl I ST Set S ?
(a) I W 30 feaumTdie safer=an <X fegwrat s feardt fammm Seedt .
(b) A SR R PR .
(c) A A 3 T 1.
(d) ST ol S UF qE HH F AN TR A0 FHH I, 7 34 {579 FW e wH

e W
qatdt 39 :
(1) (a) 30 () (2) R (d) 3) (b) 3o (o) (4) TR (a)

The Current Daily Status (CDS) unemployment rate was 6.6 per cent in 2009-10. Which
of the following statements regarding CDS concept is correct ?
{a) It considers the activity status of a person for each day of the preceding 30 days.
(b) It indicates chronic unemployment.
{c) Itisa person rate.
{d) A person who works for one hour but less than four hours is considered having
worked for half a day.
Answer Options :

(1) (a) and (c) (2) (d)only (3) (b)and (0) (4) (a) only
64, RIVAT S WA 2012-13 HET IRAHSTS A WElfHE® (11.1%) % ?
(1) T (2 = (3) A (4) AW
Which country occupied first position in India’s imports (11.1 per cent) in 2012-13 ?
(1) USA (2) China (3) Japan (4) UAE
65. ToeAl USafy dea Wa & walfis @l =2 Figae IS WE HR0 oS
(1) TTEARRSA A4 Wt 98 (2) e ST A0 S0 96

(3) dpien AfuFfus TR GE AR (4) ST HIOE TE
In the Ninth five year plan high rate of growth registered by the service sector was due to

(1) Massive govt. wage hikes (2) Wage rate hikes in unorganised sector
(3) Larger bank branches opened (4) None of above

66. TEI= SESTIoEE! STEvFhar wRarTed A1 qyA o et
(a) WESTTR G A ST qoel (M S FoAmE WA ST,
(b) ToFETE TS HHEEE 9H R TH.
FeTieh! Fed qET 3L 7
(1) (a) 2 (® (3) (a) M (b) (4) Foor TR
The need for deficit financing in India arises out of :

{a) failure of the government to mobilise the desired volume of surplus for public sector
plans. :

(b) its rapidly growing expenditures on unproductive non-developmental activities.
Which of the above is correct ?

1) @ 2} ® (3) (a) and (b) (4) Nonme

Tl HIFHERE AT /SPACE FOR ROUGH WORK
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67.

22 A
1949-50 ¥ 2012-13 A1 Gl FHemALia we T TF FUIG YRATST AR I G
(Positive) T&qTHT BT,
(1) 1984-85 37 1996-97 (2) 2007-08 ST 2008-09
(3) 2009-10 afor 2010-11 (4) 1972-73 =fT 1976-77

Trade balance of India was positive in only two years during entire period 1949-50 to
2012-13 that are

(1) 1984-85 and 1996-97 (2) 2007-08 and 2008-09
(3) 2009-10 and 2010-11 (4) 1972-73 and 1976-77

68.

Ifefer GUROTHAT=A Hl@d AN FH FHeTTe YHOT F HheMel STFAe] oI

(1) =d (2) T

(3) =W T (4) ferwEs

In the post reform period, the ratio of indirect taxes revenue to total tax revenue :
(1) increased (2) decreased

(3) became negative (4) remained constant

69.

e KT U= dewia T, Ridsw afen R Hoedr Aide syen e

e 1998 Teh WIEX FEA. ST &5 T SUATA WeHid Wit HIvw) g A At

ST ST U 1998 <A1 i Herell Tl ?

(a) wiEaEET YU a1 Boar=A] HWewid T 3o dr fam @

(b) TIHSHE SHEITRGT Ahi= SIS TR HT0,

() T 2000 THq T dehidl FRHWH AAEIS WA (NPAs) 5 e @ielt w9
2002 a0 3 TGS @iel 7o

(d) WHTE SRl AR AR TAESTES SN HAISH Wi qoiue 9 .

it 39 :

(1) (a) S (b) (2) () 3 (d) () WK (a) (4 FH (b)

The committee on banking sector reforms chaired by M. Narasimham submitted its report

in April 1998. Which of the following was not a recommendation of the committee on
banking sector reforms, 1998, to strengthen the banking system ?

{a) Setting up new and higher norms for capital adequacy.
(p) Recapitalisation of banks from the government budget.

(c)  Average level of net NPAs for all banks should be reduced to below 5 per cent by the
year 2000 and to below 3 per cent by 2002.

(d) Interestsubsidy element in credit for the priority sector should be totally eliminated.
Answer Options :

(1) (a) and (b) (2)  (c) and (d) (3) (@only (48 (b)only

WHoAT WIS AT /SPACE FOR ROUGH WORK
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Ty e A1 wgvia wel SR faer =
(a) ﬁm@*wumﬁmmﬁmﬁwmmmmmmm

(b) MIWWWWWWWWWMZMWM T Heheq T TET=1
il IaTd FHIOT TIRE A

AR HIUQ F/ G T e/ 3R ?

(1) S () (2) "o (b)

(3) (a) 3f (b) TrE (@) Tt A

In connection with the money supply consider the following statements :

(@) Reserve Bank presently provides estimates of the supply of money in terms of M,
concepts of money supply.

(b) M, represents the highest degree of liquidity and My, M,, M, follow it in descending
order in terms of liquidity.

Which of the statement/s given above is/are correct ?

(1) (a) only (2) (b) only

(3) Both (a) and (b} (4) None of the above

71.

TER et 2.0 ™. Y4 oid fauadte a%q TET9 Og TG TE, © 9w e it
P Wit (wreR) fepet et 2

(1) +20 diopters (2) ~1.0 diopters (3) +1.0 diopters (4) —0.5 diopters
A person cannot see objects clearly beyond 2.0 m. The power of lens required to correct
his vision will be :

(1) +20 diopters (2) ~1.0 diopters (3) +1.0 diopters (4) —05 diopters

72.

T ST FAEEER (Isobar) TEUAE ST

(1) wef e I o) O olRe

(2) g = He < oA At sTEe

(3) =ggiT 3nfer Wi S Ael STUHL ARGt 3
(4) g2 i Wi a6 < a@q%ﬁmﬁm@a
Two atoms are called Isobars if

(1) Number of protons in both atoms are same

2) Number of neutrons in both atoms are same
3)  Sum of number of protons and neutrons is same
(4) Sum of number of protons and neutrons is different

73.

urgweite faega e FHt o ST HEgER .
(1) AL Ag, Cu (2) AL Cu, Ag 3 Cu Al Ag (4) Ag Cu, Al
From metals electrical conductivity increases in the order of :
(1) Al Ag Cu (2) Al Cu, Ag (3) Cu, Al Ag (4) Ag Cu, Al

74.

HAmTEr MG SRR Foeren Jg96 @ IR

(1) Tremds wRd (2) faude s

(3) IRUEA ©S (4) foudsr sTaERRAE
The pollutant that caused Minamata disease is

(1) Methyl mercury (2) Methyl arsenate
(3) Tetraethyl lead (4) Methyl isocyanate

oAl HTETS ST /SPACE FOR ROUGH WORK
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75. HIERY ATl H,O sefedid W HoS, HySe @ H,Te ¥ argfeudta sEoa &R
(1) Ao TR fagahorm
(2) wEZA WY
(3)  raTSAT Y[ sgatiendl
(4) ol wd
The liquid state of H,0O and the gaseous states of H,S, H,5e and H,Te at room temperature
are due to :
(1) higher electronegativity of oxygen
(2} hydrogen bonding
(3) polymerisation of water molecules

(4) all the above

76. 1A fa=[a Wemg We&FH! 1M NaCl, 1M KC1 3 1M RbCl <1 SEvIiqd a9t T Yt
wefaen. FEo Bomn uigen 79 TS (n ) S9F WY 3 .
(1) Ny, > O > Ngy, 2) n aSTx<n
(3) ny, =ng =ng (4) T FoE
1A of electric current is passed through each IM NaCl, IM KCl} and 1M RbCl solutions

separately for 1s. The correct relationship for the number of mol (n,,} of the metals deposited
18

(1} oy, > ng > gy, (2} ny,<ng<nygy,
(3) nu, =ng=ng (4) None of the above
77. AR A gL v 1 WO WY IS A 3R U
(1) g (2) TENEE
@) o (4) TH<wE
In superorder Teleost animals are commonly called as ‘Flying Fishes’.
(1) Anguilla (2) Exocoetus
(3) Hippocampus (4) Hemirhamphus

78. WiETAH! YRR Wikt @ SeHshy o ?
(1) TR, wudaRe, e, wd
(2) TN, WMt TR, T
(3) TIEREe, WS, TRARE, v
(4) TEHERNEI, TRHARe, T, e

Which of the following is correct sequence of events during spermatogenesis ?
(1) Spermatogonia, Spermatocyte, Spermatid, Sperm
(2) Spermatocyte, Spermatogonia, Spermatid, Sperm
(3) Spermatocyte, Spermatid, Spermatogonia, Sperm
(4) Spermatogonia, Spermatocyte, Sperm, Spermatid

79. 71 yofianidia wee ® stifaedtea fEfead woi €.

(1) TifeTIEeT | Affesmae (2 Sifermwg 9 fesertan
(3) Teweriten 9 smErsiiee (4) witree 5 fewdifien

Members of class of Annelida are hermaphrodite animals.
(1) Polychaeta and Oligochaeta (2) Oligochaeta and Hirudinea
(3) Hirudinea and Archiannelida  (4) Polychaeta and Hirudinea

HooT THTARATS AR /SPACE FOR ROUGH WORK
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80. TIMTHA 3 I L.
(1) SRS (2) SO (3) UM 4) feses
Endosulfan is an example of :
(1) Fungicide (2) Bactericide (3) Herbicide (4) Insecticide
81. T4 71 e Fam.
(1) SR @) ey (3) fErwEa (4) SATFsiremEy
The ferns are classified in .
(1) Bryophyta (2) Gymnosperms (3) Pteridophyta (4) Angiosperms
82. 2-4, D AW gie frEETEEl wEE.
1) ITSE FEw (2) STt STy
(3) T 4) fosmosg Tm
2 -4, D is used to control
(1) Parasitic Fungi (2) Parasitic bacteria
(3) Weeds (4) Viral diseases
83. fam fieer o sfear wivrm e o= 3o 7 faae w3 ?
(1) foaew @
2) fewifen, fedtm, wegfay a themfen o =t @@
(3) eUerafeq st =t v
(4) uiafed
Which is the Recombinant vaccine produced and marketed by Serum Institute of India ?
(1) Measles vaccine
(2) Diphtheria, Tetanus, Pertussis and Hepatitis B vaccine
(3) Hepatitis B vaccine
(4) Repoiten
84. UfgcAl HRGSTS 93 UHATEMLT S oiish ' ¢=9 e Jar=a A fUEia g, & =+
FHrea.
() s e (2) ®w AN
(3) 3 Wt (4) TSR g
During world war I around one million people were infected by a disease called ‘Trench
fever’. This disease is caused by which of the following agent ?
(1) Bartonella quintana (2) Staph aureus
(3) E.Coli (4) Klebsiella pneumoniae
85. fm e HEFETd TR B4,
(1) e (2) e (@) =Fd ) T
Bile is formed in the .
(1} Kidney (2) Salivary gland (3) Liver (4) Lung
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86. dfge e i/ vk fEAe SRg o= I &Y 37aR #is feoidt o

& /afaw - 4%39 $18@©2#5 6 %75

#FWHE : PMITRQJFHAEUNBGL

Tt TF i/ 9fas g feoen o, 799 o fodow sea. o = @4 g feeen

3ish/ wite TEE1 H5R HIS FAYeien 4rg 9319 FHaer.

31t -

() TEE gfeet T wiew Ao sida T 3% IO W, i SIS W TR,

(i) e dfeet T i oM St o Wi 30T T A HFHT Pt Hrgdg FA.

(i) ofeet nfin 3 o< E TH SE THdE W IRl X S UM HIS HE.

(iv) dfect sufor oidm T Sl v ofe ST T A Y <0 §9E #1S .

¥/ UlaF FE:$1896©

(), TRQJNH (2) RQJTNH

(3) NHJORT 4 RQTJNH

In the first row numbers/symbols and in the second row, their letter codes are given :

Number/Symbol : 4 %39 $18@0O02#5 6 %75

Letter Codes : PMITRQJFHAEUNTBGL

Below, a number/symbol group is given and some conditions are also given. Under these

conditions, select the correct option of the letter code of given number/symbol group.

Conditions :

(i)  If the first character of the group is symbol, and last character is number, then
interchange their codes.

(i) If the first character of the group is number and the last character is symbol, then
code both, by the code of number.

(ii) If first and last characters both are even numbers, then code both as ‘X'.

(iv) If first and last characters, both are odd numbers, then code both as “Y".

Number/Symbol group: $ 1896 ©

(1) TRQIJNH (2 RQJTNH

(3) NHJQRT (4 RQTJNH

87. TEeieTd! v e e st 35 ?

(3) 49 (4) 94
Wh1ch one of the fo]lowmg number will occupy the blank space ?

(2) 63 (3) 49 (4) 94

88. ﬁéw Hemerdie fa Sl 9 gaiE e
4,9, 17, 35, , 139.
(1) 69 (2) 80 3 71 (4) 92
Select correct alternative in blank space, in the given number series :
4,9, 17, 35, , 139.
(1) 69 (2) 80 @) 71 (4) 92

ol /IS SIPT /SPACE FOR ROUGH WORK
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89. WS ageedd wwe fafire framaar wee odd. wfsersn fewft 9 1o faen

i G 6w &)
@ N2yl
1y 7 (2) (3) 21

13 4y 35
The numbers in each circle are according to some rule. Select correct alternative in place
of question mark.

SDASCRCPRGD
W) Y &Y

) 13 (3) 21 (4) 35

90, WEe TEHIdS YR ST I ST Jge ?
65, 126, 217,344, _ ?
(1y 513 (2) 413 (3) 412 (4) 502
In the following number series, which number will come in place of question mark ?
65, 126,217,344, 7
(1) 513 (2) 413 3) 412 (4) 502

91. WRU'x' W HAY e~ + WAL MR+, + W 3 IR+ epf — W A M ' W
G HIR THISH ST 38 ?
(1) 15-5+5x20+10=6 (2) 8+10-3+5x6=8
B) 6x2+3+12-3=15 4) 3+7-5x10+3=10
If X’ stands for ‘' —’, “+’ stands for ' +’, 4+’ stands for <+’ and ' —" stands for ' X’ then,
which one of the following equations is correct ?
(1) 15-5+5x20+10=6 (2) 8+10—3+5x6=8
(3) 6x2+3+12-3=15 (4) 3+7-5x1043=10

92. FpmHiE G fafire fFaagur sned. weeds fawren ol S den foden waiaiag

T
3 i i5 4 ‘a 7 2 i i9
8 5 10
1) 10 ) 15 (3) 18 4) 20

The numbers in the figures are according to some rule. Find the number in place of
question mark from given alternatives.

3i is 4/ \7 2i 59
14
8 5 10
1 10 2 15 (3)

FHoAl HwMMES AT /SPACE FOR ROUGH WORK
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93.

28 A
Wiete Hifcient TTETes A & I :
24,6,48,12,96,24, 7
(1) 191 (2) 192 (3) 193 (4) 194

Find the missing number in the following series :
24,6,48,12,9,24, 7 .
(1) 191 (2) 192 (3) 193 (4) 194

94,

et WA= BF i fecio aga. @relt faeresn framien stuR, < Eeid Tl S qed

fraw

(i) T UH A Sht GH HSHAR TG T GHGET 38 T Iieedn T&iel g 9T,

() W U A GEHG U AfYRT ST S o, W ST TR HE

(i) TR T FaUH T AOGE! UE faue He oid W, W Qe S S,

(iv) T A SRt GG T o T ST S R HEA oA W, T HE qieedr
T a9 FA.

(v) SRR dH S HEHE U ol 1 TE S SRt W oe at ufeed Hede gen

125 64 33
282 X 39
SR qfeed S e X ST W gE Sie 7o ol ?
(1) 45 (2 42 @) 39 4 36

Two rows of numbers are given. Answer the question by calculating the value of each
row, on the basis of the following rules. The calculations of numbers are to be made from
left to right.

Rules :

(i)  If after a two-digit even number, there is one more even number, then divide first by
second.

(i) If after an even number there is a prime number, then multiply them.

(iiiy If after an odd number, there is one more odd number, then add them.

(iv) If after a three-digit number, there is a two-digit square whole number, then subtract
second number from the first number.

(v) If after a three-digit number, there is a two-digit number, which is not square whole
number, then divide first number by the second.

125 64 33
282 X 39
If the value of the first row is ‘X', what is the value of second row ?
(1) 45 (2) 42 {3) 39 4) 36

Heedl HIHMEISE WRT /SPACE FOR ROUGH WORK
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@, ©, #, $ 3NT07 % 1 Wi ITANT YEAYHTT FI0AT STerel TR
POQ =1 314 17, P, Q Y&l &g el

PxQ =1 314 312, P, Q U&7 a1 &l 1t Q Uan o™ e,

P@Q <1 319 3TE, P, Q YT HIaT 718! 1M Q Tael e,

P$Q =1 314 T, P, Q W& et .

P#Q =1 319 2T, P, Q Y&l wie &t 1fi7 Q wael Ardl.

e A1 el 9t faur feeiet SRe it eer Fiedd dF ferd feee sRe. ferufamsa
g 91 99 fAast

faum - HxM;M@T;T$K
Frerd - (OD-K#M
(I)-T#H
(I - H@ K

(1) wa frepd (1) sufor (1) seR smRa

(2) W T (1n) smiftr (1) srer 3mRa

(3) W freed (1) amifor (I0) SR 3mea

4) T (1), (1) enfin (100) 5 SRS o7

The symbols @, ©, #, $ and * are used as follows :

POQ means, P, is not less than Q.
P*Q means, P, is not greater than Q and not less than Q.
P@Q means, P, is not greater than Q and not equal to Q.

P$Q means, P, is not greater than Q.

P#Q means, P, is not less than Q and not equal to Q.

On the basis of this three statements and three conclusions, derived from them, are given.
Select correct option about the conclusions.

Statements - HxM; M@T;Tg$K
Conclusions - () -K#M

(I -T#H

(I -H@K
(1) Only conclusions (I) and (II) are correct
(2) Only conclusions (II) and (III) are correct
(3) Only conclusions (I) and (III) are correct
(4) Conclusions (I), (II) and (III) all are correct

HocAl HIFEIEI ST /SPACE FOR ROUGH WORK

P.T.O.
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96, Teoiear W, B fa=sien s s feoel aHtetn ster dfa. v famgi=n
TR faee THieRT SR Bge, o9 A qai fHeel
2x3+6-12+4=17
(1) x amfr + (2) + 3mftr — (3) + a7 - (4) — afr =
The given equation becomes correct due to the interchange of two signs; in the given

equation. Find the correct alternative of signs, by interchanging of which, the equation
will be correct.

2x3+6—-12+4=17
(1) x and + (2) + and — (3) + and + (4) - and +

97, YaTeal Framia sactd S0 91 ST&R Afer! feeean e,

(a) azy, byx, cxw, dwv,

(b) zxa, ywb, xvc, wud,

(c) acz, bdy, cex, dfw, .

(d) ayb, bxc, cwd, dve, .

Tl TF IE feiid oR. d U8 <71 Mifas ST, T wiferen! .

g - mmmn

vt 39T

1) @ 2 ®) @) (9 ) ()
There are four letter series, following different rules :

(a) azy, byx, cxw, dwv,

(b) zxa, ywb, xvc, wud,

() acz, bdy, cex, dfw,

(d) ayb, bxc, cwd, dve, .

One term is given below. Find out the series, to which it belongs.
Term - mmn

Answer options :

1) (@ 2 ® 3) (9 @) (@

98. Wilcl HEAl Hifefshe 97 Fogr=an St hiovet w95 ?
17,30,47, _2 ,93
(1) 66 (2) 68 3 70 4 73
Which number will replace the question mark in the following number series ?
17,30,47, _2 , 93
(1) 66 (2) o8 3 70 4) 73

oA STHFATS AT /SPACE FOR ROUGH WORK
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99. U fafyre Hishfad wmqa ‘yak le di’ TEUR ‘sky is blue’, ‘'mok se le’ U ‘blood is red’ 30T
‘mok pi di’ I “sky and blood’ T ‘blood’ ISt VT Hehet 9 ?
(1) pi (2) mok 3y le (4) di
In a certain code language ‘yak le di’ means ‘sky is blue’, ‘mok se le’ means ‘blood is red’
and ‘mok pi di’ means ‘sky and blood” which code stands for ‘blood’ ?

(1} pi (2) mok @) le @) di

100. TH FHfdw 9Ed ‘pik da pa’ =1 318 HR ‘where are you’, ‘da na ja’ =1 3¢ 3® ‘you may
come’ 31 ‘na ka sa’ =1 34 3 ‘he may go’. WA ik HINHE ‘come’ HIST BTG Hehd
BEC W
(1) da (2} ja
(3) na 4) () (2) ) T THE TE

In a code language ‘pik da pa’ means ‘where are you’, ‘da na ja’ means ‘you may come’
and ‘na ka sa’ means ‘he may go’. Then what is the code for ‘come’ in this code

language ?
1) da @ ja
(3} na (4) None of (1}, (2}, (3}

-000-

el HIATETE W /SPACE FOR ROUGH WORK
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AT — (78 1 &6 qE....)

®) vETIfearaes fafeq Foem fafire srie =2 @ (T o%) +E.  TYRasfaiEd sTufyeaR @
TR FOREL Fod FH Fed| T FIA F0AA AW FS5 TR, 3 TS MRS 9 AR SHEARE
IR SR 3o ' aieieed Qo e wfiey soaeeas Afufem-s2 ' ade SwEdaeR $rRan
Fog 3§ 9 AN AT FHO T T SREHE A/ fHa ¥ tF 79K WEe sere Ew
L e RIEC

(9) T T iEhaE ST fafsa Fod I UIeaHM SHSTNS & TYAYRaH a:alal THaeherans
USA WAE WA AR, AT TS THIET SUEgE JUEaNH ATedT ST -1
WAHAGETERS 7 AT W T avasE ok

. b 201

. 5. 201.

Hq e
FArE AT T HOARS! I Ho: TS FS 2
() Tl SIEE T @) SvaEg faemarR
(3) TS UHARA W4 @)  TiuvesEe e
YR Ay SR (3) T TR U970 I TR, W@ O wER SR (3)" dde. ase
TEAEHATIT T %, 201 FAe Sw-wAw Q)" ¢ ade Toivet sEifed e qrafao
HETTF 3.

ONEGN NC

I TG TId FIYRdehdie Tods Tl HEl SuGhHiT & el Waaie Jiaeen
IAEEHFINS ™ & TFRAEHANS Gafd ade quivs Baifhd &1 Jaaal.  geier
e AT IS Srede AT, UhEe a1 v U aue .

el HUTHSE 9T /SPACE FOR ROUGH WORK



